GARCH Homework for ECON 511

1) Analyze the ARMA process for S&P returns

2) Run Reset test for nonlinearity and Jarque-Bera for nonnormality. (These features (nonlinearity and nonnormality) are characteristic features of ARCH process).

3) Specify ARCH(q) process by 
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 and compare LL of regular to the model with ARCH (LR test) 

4) Check kurtosis again to find insufficient heavy tail.

5) Switch to GARCH. 

6) View conditional SD graph and compare with original return.

7) Check to see if you have any asymmetry in the ARCH process. If you find one, obtain the conditional SD graph and compare with the one before.
_1269159898.unknown

